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Q.1 Select the correct alternative and write in answerbook :     [10] 
 (1) Over-irrigation results in 
 a) Water pollution   b) Soil salinity 
 c) Air pollution    d) Shortage of water 
(2) The Indian economy is characterised by 
 a) Rural employment   b) Over urbanisation 
 c) Pseudo urbanisation  d) Urban poverty 
(3) This is a perennial river of Gujarat 
 a) Sabarmati    b) Narmada 
 c) Banas     d) Hathmati 
(4) Mangrove forests in India are found in 
 a) Assam     b) Himachal Pradesh 
 c) Maharashtra    d) West Bengal 
(5) This gas is the cause for air pollution. 
 a) Ozone     b) Nitrogen 
 c) Carbon     d) Sulpher Dioxide 
(6) Air pollution can be reduced by increasing the use of this fuel. 
 a) Petrol     b) CNG 
 c) Diesel     d) Coal 
(7) The first Forest Policy of independent India was announced in 
 a) 1948     b) 1949 
 c) 1952     d) 1951 
(8) The construction of big dams damages 
 a) Forests     b) Water 
 c) Air      d) Ground water 
(9) In order to reduce soil erosion 
 a) Construction should be done 
 b) Trees should be planted 
 c) Use of chemical fertilizers should be reduced 
 d) Canals should be built 
(10) Soil salinity is the result of 
 a) Over irrigation   b) Under irrigation 
 c) Over extraction of ground water 
 d) Use of chemical fertilizers 
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Q.2 
(A) What is meant by Urbanization ? Discuss environmental problems   [15] 
 due to urbanization and suggest measures to mitigate the same. 

 

OR 
(B) What are the sources of air pollution ? Discuss policy measures to   [15] 
 reduce air pollution in India. 
 
Q.3 
(A) Explain with the help of suitable examples, the impact of households   [15] 
 on environmental pollution. 

 

OR 
(B) Critically examine the Forest Policy of India since independence.   [15] 
 
Q.4 
(A) Bring out the economic importance of forests. What are the causes   [15] 
 of degradation of forests in India. 

 

OR 

 
(B) What are the effects of use of chemical fertilizers and pesticides on   [15] 
 the environment and people. 
 
Q.5 
(A) What are the environmental problems due to scarcity of water ?    [15] 
 What measures do you suggest to mitigate them ? 

 

OR 
(B) Give your arguments in favour of, and against the construction of    [15] 
 large dams. 
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NyS>fpsu sfS|>dp¡ 
Ly$g NyZ: 70 

 
â.1 kpQp¡ rhL$ë` `k„v$ L$fu S>hpb DÑfhludp„ gMp¡.        (10) 
 (1) Ars-k]QpB_¡ L$pfZ¡ Ap `qfZpd Aph¡ R>¡. 
 A) S>m âv|$jZ   b) S>du__u Mpfpi 
 L$) lhp âv|$jZ   X$) `pZu_u AR>s 
(2) cpfsue A\®ìehõ\p_y„ gnZ R>¡. 
 A) N°pduZ fp¡S>Npfu   b) Ars il¡fuL$fZ 
 L$) _L$gu il¡fuL$fZ   X$) il¡fu Nfubu 
(3) Ap NyS>fps_u bpfdpku _v$u R>¡. 
 A) kpbfdsu    b) _d®v$p 
 L$) b_pk    X$) lp\dsu 
(4) cpfsdp„ v$qfepB h_p¡ Ap õ\m¡ R>¡. 
 A) Apkpd    b) rldpQg âv$¡i 
 L$) dlpfpô²$    X$) `ròd b„Npm 
(5) Ap hpey, hpey âv|$jZ_y„ L$pfZ R>¡. 
 A) Ap¡Tp¡_    b) _pBV²$p¡S>_ 
 L$) L$pb®_    X$) këaf X$pep¡¼kpBX$ 
(6) Ap DÅ® öp¡s_p„ D`ep¡N\u hpey âv|$jZ OV$pX$u iL$pe R>¡. 
 A) `¡V²$p¡g     b) CNG 
 L$) X$uTg    X$) L$p¡gkp¡ 
(7) ApTpv$ cpfs_u `l¡gu h_ _urs Ap hj®dp„ Ål¡f L$fhpdp„ Aphu. 
 A) 1948    b) 1949 
 L$) 1952    X$) 1951 
(8) dp¡V$p b„^p¡ Ap_¡ _yL$kp_ `lp¢QpX¡$ R>¡. 
 A) h_     b) S>m 
 L$) hpey     X$) c|Nc® S>m 
(9) S>du__y„ ^p¡hpZ AV$L$phhp dpV¡$ 
 A) bp„^L$pd L$fhy„ Å¡BA¡ 
 b) h©npfp¡`Z L$fhy„ Å¡BA¡ 
 L$) fpkperZL$ Mpsfp¡_p¡ h`fpi OV$pX$hp¡ Å¡BA¡ 
 X$) _l¡fp¡ bp„^hu Å¡BA¡ 
(10) S>du__u Mpfpi Ap_y„ `qfZpd R>¡. 
 A) Ars tkQpB   b) Ap¡R>u tkQpB 
 L$) c|Nc®S>m_„y Ars-v$p¡l_ X$) fpkperZL$ Mpsfp¡_p¡ D`ep¡N 
 
â.2 



 4 

A) il¡fuL$fZ A¡V$g¡ iy„ ? il¡fuL$fZ_¡ L$pfZ¡ DÐ`ß \sp„ `ep®hfZue âí_p¡_u QQp® L$fp¡  
 (15) 

 A_¡ s¡ v|$f L$fhp_p„ D`pep¡ k|Qhp¡. 
 

A\hp 
 

b) lhp âv|$jZ_p„ öp¡sp¡ ¼ep R>¡ ? cpfsdp„ lhp âv|$jZ OV$pX$hp dpV¡$_p _ursrhjeL$   (15) 
 `Ngp„_u QQp® L$fp¡. 
 
â.3 
A) ep¡Áe Dv$plfZp¡_u dv$v$\u, `ep®hfZue âv|$jZ D`f Ly$Vy„$bp¡_u Akfp¡ kdÅhp¡.  

 (15) 
 

A\hp 
 

b) ApTpv$u `R>u_u cpfs_u h__urs_u V$uL$pÐdL$ kdunp L$fp¡.      (15) 
 
â.4 
A) h_p¡_y„ Apr\®L$ dlÒh õ`ô$ L$fp¡. cpfsdp„ h_p¡_p r_L„$v$__p L$pfZp¡ ¼ep ¼ep R>¡ ?  

 (15) 
 

A\hp 
 

b) fpkperZL$ Mpsfp¡ A_¡ S>„sy_piL$ v$hpAp¡_p„ D`ep¡N_u `ep®hfZ A_¡ gp¡L$p¡ D`f iu  
 (15) 

 Akfp¡ `X¡$ R>¡ ? 
 
â.5 
A) `pZu_u AR>s_¡ L$pfZ¡ ¼ep-¼ep `ep®hfZue âí_p¡ D`[õ\s \pe R>¡ ?    (15) 
 s¡_¡ v|$f L$fhp dpV¡$ Ap` iy„ `Ngp„ k|Qhp¡ R>p¡  

 
A\hp 

 
b) dp¡V$p„ b„^p¡_u sfa¡Z A_¡ rhfyÙdp„ Ap`_u v$gugp¡ S>Zphp¡.      (15) 
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